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In the table below, indicate whether each of the subsequent 30 assertions are true or false. For a correct answer you get 0.3 while for a wrong one you lose 0.3
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1.In the Ricardian model, trade may save hours of work even it leads to some goods being produced with more hours of work than they would be produced without trade
2.In the Ricardian model with two goods, two countries and no money, it is the difference in the opportunity costs in the production of the two goods that creates an incentive for the individual producers of each country to specialize in the production of one of the goods.

3.Consider the Ricardian model with two goods, two countries and no money. When countries open up to trade, in order to decide which good to produce individual producers in each country compare the domestic relative cost with the relative price in the foreign market..
4.In a trade model with two goods, two small countries and constant relative costs, an increase in the world demand directed to one of the goods does not have an effect on the relative price of the goods because this is determined by its relative cost.

5.In the short run, imports can be paid with foreign currencies or on the basis of external loans. But in the long run, imports have to be paid essentially with exports.

6.In the Ricardian model with two goods and labour as the single factor of production, under flexible rates the relative wage will change until the external balance is in equilibrium.
7.In the Ricardian model with two goods and labour as the single factor of production, under fixed rates the relative wage may change – ultimately as a result of the flow of money from the deficit to the surplus country -  until the external balance is in equilibrium.

8.In the Ricardian model with three countries and two goods, if one of the “extreme countries” ends up fully specialized, then the same will happen with the “middle country”.
9.In fixed rates without monetary sterilization, a trade imbalance increases both the monetary base and the interest rates in the surplus country

10. In the Ricardian model with many goods, under floating rates the exchange rate adjusts until the country has lower unit monetary costs in a sufficient number of goods to ensure that the value of its exports just cover the value of its imports.

11. Suppose that a country has a surplus in the trade of a certain good. In this case, the proportion of intra-industry trade in the total trade of that good of that country is equal to the excess of exports over imports of the good, divided by the sum of exports and imports of the good by the country.
12. In Krugman’s model, trade makes firms cut their prices because it makes consumers less price-sensitive.

13.In the HO model, the relative price of goods may not be affected by changes in the relative price of the factors of production

14. In the HO model, a labour abundant country can increase the production of the labour-intensive good only because it is assumed that in the long run firms can switch to more capital intensive techniques

15.According to the HO model, if the various factors of production were proportionately distributed across all countries, there would be no gains from trade.
16. A subsidy per each unit exported of a certain good leads to “consumption inefficiency”

17.A tariff on imports of a certain good leads to a transfer of income from certain parts of the private sector to other parts of the private sector

18.In a static analysis, a tariff on imports of a certain good imposed by a large country may have a positive effect on its welfare.

19. The Common Agricultural Policy of the European Union includes tariffs on imports but not subsidies to exports
20.In the WTO, countries with a larger bargaining power sometimes succeed in making their exports subject to lower tariffs than the tariffs to which the exports of similar goods of countries with less bargaining power are subject to.

21. According to the Infant Industry Argument, a temporary protection of a specific manufacturing sector of a developing country from foreign competition may lead to future welfare gains for the country but not for the world as a whole.
22.As far as the trade of manufacturing goods is concerned, the WTO prohibits quotas on imports, but not tariffs on imports

23.The progresses achieved by GATT/WTO since World War 2 in the liberalization of trade of manufactured goods have been similar to the progresses obtained in the liberalization of trade of agricultural goods
24.Given a certain percent tariff on the imports of a final good, the greater the proportion of the domestic value added relative to the imported input, the greater will be the Effective Rate of Protection (ERP) received by the domestic industry that produces that good.

25.A tariff imposed by the Portuguese government on the imports of a good produced by a foreign company facing a downward-sloping demand curve in the Portuguese market leads to a gain in the terms of trade 

26.A country of the WTO is not allowed to raise its tariffs on imports of manufactured goods.

27. In a static analysis, the creation of a Free Trade Area may have a negative effect on the overall welfare of the participating countries

28.Internal – but not external – economies of scale is one of the reason why trade leads to gains

29. In Krugman’s model, trade allows some companies to explore internal economies of scale because it leads to the failure of some other companies
30.Internal economies of scale take place when the professionals and businessmen of different firms of the same industry learn with each other
1. What is the effect - both in short-run and in the long-run - of the trade between Mexico and the USA on the wages of unskilled workers living in Mexico? Explain.

Note: In that trade, Mexico exports goods intensive in unskilled labour and imports goods intensive in skilled labour.
2.Explain the economic mechanisms through which trade eventually leads to the failure of some companies in Krugman´s model.
3. Explain the economic mechanisms through which a subsidy to exports of a certain good leads to an increase of its price in the domestic market. (Note that we are not asking for a geometric analysis).

4. A tariff on imports of a certain good leads to ‘production inefficiency’. What is the economic meaning of this expression? (Note that we are not asking for its geometric representation).

5. “Under the presence of internal and external economies of scale and of ‘learning by doing’, it is possible that the country with potentially lower unit production costs will not enter in an industry where another country is already established.” Do you agree? Explain, underlying the relevant economic mechanisms and including also a graphical analysis.
6. “One of the main reasons why the Eurozone has been the region of the world with the lowest rate of economic growth over the past decade has been its inability to compete with low-wage countries like China”. Do you agree? Explain. 

Note: In your answer, bear in mind that the trade balance of the Eurozone as a whole has been close to equilibrium over the past decade or two.

